Circuit Training - Mixed Integration Practice Name

Directions: Beginning in cell #1, integrate. Search for your answer and that becomes cell #2. Continue in
this manner until you complete the circuit. Note: The last 4 problems are challenge problems and may
involve geometry, integration by parts, and/or partial fractions.

Answer: 11 x_‘1| +C Answer: —In|cosx|+ C

x+1

3 . rn

#_ 1 [(3x%*+ cosx)dx #_ sin(%x)dx
Answer: %sin‘l(Zx) + C Answer: _Zx4 + SHTXEE —3nx%2+C
# f03 V9 — x2dx # [ x? cos(x3)dx
Answer: e* +C Answer: %xz +1In|x| +C
#_ [x(x*—3)dx # [ sec(2x) tan(2x) dx

© Virge Cornelius 2016




o
Answer: ”

# [Inxdx

Answer: x3 +sinx+C

# [3x2e*dx

Answer: %ln(x2 +1)+C

3
Answer: 5

x2+1 1
# f x dx #— f1+x2 dx
Answer: ésin(xg’) +C Answer: — % cos(2x) + C
# [ 2 sinx cos xdx # [ xVxZ + 3dx
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Answer: 9mx — Enx5 +C

# 27 [ x(—x? + 4x — 3)dx

6
Answer: -—
T

xInx

Answer: xsinx +cosx + C

1
Answer:  -x*- %xz +C

1
# fxz—l dx # fx2—3 dx
X
Answer: %sec(Zx) + C Answer: i;
#_ flzelnxdx #_ f\/%
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Answer: £—31n|x| +C Answer: xlnx—x+C
2
# X cosx dx
§_ [xvxdx J
Answer: In|lnx|+ C Answer: tan"lx +C
— ”f_ll(lz — (1= x*)?)dx #__ [tanxdx
1 3 -5
Answer: - (x2+3)z+4+C Answer: —xz+C
# [(®(3)? — n(x?)?)dx

L fx2x+1 dx
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